= A
N = 0 &8 AFH Y & A AN
20148 &= =& 1 g L3I A M A
EM: AR
M. H=0E2
9l 0SS X ALY (et @ e)
SAH-AH -2 (SA) - HREAY - BES ;] Fat el Iy H Hns2
[=P\B/=Tn" 27,971,699 23,608,304 4,363,395
2 500,000 500,000 0
2 6,763,000 6,763,000 0
Jl 500,000 0 500,000
[ 788,000 500,000 288,000
2 19,420,699 15,845,304 3,575,395
si=ne 1,030,548 1,032,600 A2,052
HEOIS X ALY 1,030,548 1,032,600 A2,052
AJIES XHOS)) 530,548 532,600 A2,052
201 L2 2,254 2,300 A4B
01 AL 22| H 2,254 2,300 A46
olgersat| ] 1,960 2,000 A 40
OFAMIE20ISIIRD] HII2H ABE 2
ol (=20 AR 2 A 960,0008 * 14l 960 1,000 A 40
ol2g+¢] 294 300 AB
O&EAMIZ20ISIHRD| WIS (=20 o E 2
) 2R 147,000 * 2% « 1A 294 300 N
202 04l 294 300 A6
01 2o Y 294 300 A6
OFAINZE20ISIIRI| 2 S XX ALEOIH DI}
OHI (20 aE2) A 294,000 * 14l 294 300 NG
402 DI2H X201 & 528,000 530,000 A2,000
01 DI =B X 528,000 530,000 A2,000
OFAMINE20IE2IIRI| 22 (20 aEZ)
AX 28,000,0002 * 14! 28,000 30,000 A2,000
=B NA 2,473,084 1,211,281 1,261,803
[ 240,000 0 240,000
2 2,233,084 1,211,281 1,021,803
ZOIFFHAXRA 240,000 0 240,000
= 240,000 0 240,000
sl 8= .28 14 240,000 0 240,000
[ 240,000 0 240,000
402 QIZHXH=0| A 240,000 0 240,000
[ 240,000 0 240,000
01 pI2REEx 240,000 0 240,000
ost=22Ag X 40,000,0008 * 6% 240,000 0 240,000
[ 240,000 0 240,000
DIS2Z=S0ISAEAY 2,121,184 1,094,224 1,026,960
IIESZ2S0I2AE E 814,184 524,224 289,960
401 AlEHI 2 =200 115,500 50,540 64,960
01 Al&HI 115,000 50,000 65,000
O[AI&HI] 115,000 50,000 65,000




A TAOHE L

X FHESINA

ool II=S3S0SAMEANY

SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
ODI2ZS0IAIA HH|
ZA 10,000,0002 * 10S 100,000 50,000 50,000
O&E ¢52 HENSE 2 EH
15,000,000 * 14! 15,000 0 15,000
03 Al& 20 H 500 540 40
OOIS2E0I2 A4 AU 2OH (20 &EZ)
ZA 50,000,0002 * 1.0% 500 540 A40
402 DI+ K20 & 697,000 472,000 225,000
01 QIZIXt=E X 697,000 472,000 225,000
Oblg S22 srZyotSsl & M
10,000,000 * 14! 10,000 0 10,000
OdE 242 234012 2SI L =
A 25,000,000 * 14! 25,000 0 25,000
OFX &g FHOSIA 2
10,000,0008 * 14! 10,000 0 10,000
OFX g52 2HOSs & H
10,000,000 * 14l 10,000 0 10,000
OblY SX2 220S3A L S22 24
25,000,000 * 14! 25,000 0 25,000
OFX THZ FoalH EX3A
20,000,000 * 14! 20,000 0 20,000
ONI2SZS0I2AI4 FHHIX
23X 10,000,0008 * 255 250,000 200,000 50,000
ONZE N D252 22 I3 0% 0 10,000 A 10,000
OdlE HE37 A2 g5 A% AF 0” 0 7,000 A7,000
Odl= 20232 01232 EH < HIJIEAX
20,000,0008 * 1Al 20,000 0 20,000
OjE A2 M2 HIJIRAIAE L FHEY|
20,000,0008 * 14l 20,000 0 20,000
Ouls Za27 Otszl2 24 & HIOtd &X
20,000,0008 * 14l 20,000 0 20,000
Oats 2202 |42 B4
10,000,0008 * 1Al 10,000 0 10,000
Ods 22012 |42 HIJta &X
10,000,0008 * 1Al 10,000 0 10,000
OMNME csOt232 F8E|
7,000,0008 * 1Al 7,000 0 7,000
OnlY ss0t23 & =HA|
5,000,0008 * 1Al 5,000 0 5,000
ZSAES 02 X HY 120,000 60,000 60,000
402 DI2H K 20| & 120,000 60,000 60,000
01 QIZIXt=2E X 120,000 60,000 60,000
OZS0I AL 0L
23 20,000,000 * 64 A 120,000 60,000 60,000
ZES0I2AA HH| 1,187,000 510,000 677,000
402 QI+ K20l A 1,187,000 510,000 677,000
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S ANt

HE: FBHN
Sl D22 S0ISAEAY CERED
SA - BAEN) - NRAY - LS 0l &F 24 o1E o HRE2
01 QIR ERE 1,187,000 510,000 677,000
O35 d32l BHOIE |2 UE
25,000,0008! * 14} 25,000 0 25,000
O&s 2ZOS REA M5
17,000,008 = 14 7,000 0 17,000
OdE Y5/OIS REL ME
25,000,0008! * 14} 25,000 0 25,000
O&s I5H0IE BSFD US
10,000,008 * 14 10,000 0 10,000
O&s Y502 RE2t M5
25,000,0008! * 14} 25,000 0 25,000
O&s 82 AALIR 3B UE
60,000,000 * 14} 60,000 0 60,000
OHZ Y22l YOSV 45
90,000,000 * 14} 90,000 0 90,000
O2F 8Ha H408 RE2 U5
25,000,0008! * 14} 25,000 0 25,000
ONS 922 SZSHEs 2 U5
50,000,0008! * 14} 50,000 0 50,000
ONZE EH2H2l DI2sl2 A%
0,000,000% * 141 50,000 0 50,000
O0lg S92 SBOISEP SFA A4S
33 0 0 10,000 A10,000
OHZ =2 WEUS RE2 UE
25,000,0008! * 14} 25,000 0 25,000
O&s 8%2 55018 REL UE
25,000,0008! * 14} 25,000 0 25,000
OUE D2 RADS I AE
20,000,0008! * 14} 20,000 0 20,000
O&ts HE2 HilE RE2 NS
25,000,0008! * 14} 25,000 0 25,000
OUE D2l HOHOIS BEA S 45
20,000,0008! * 14} 20,000 0 20,000
ontss N5 3 50,000,0008 * 85 400,000 300,000 100,000
ORd2 U5 AT 25,000,008 * 65 150,000 100,000 50,000
OstFa ME 2 10,000,0008 * 95 90,000 70,000 20,000
ONE S2el M2 45
25,000,002 * 15 25,000 0 25,000
=S F ST ALY 78,624 83,607 ~5,073
CEFATY| 31,624 33,607 ~2,073
201 Let24E] 1,272 1,297 A 25
01 AbR 22/ H] 1,159 1,184 A25
olzzl] 1,159 1,184 ~25
OSHEZNSBNLAY HREE SHI(
S0IAEY) I 1,159,008 * 14 1,159 1,184 N
202 Of 2,352 2,400 A48




SHT AN D
B FB AN
Sl LS TSI ALY (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
01 2Lhot8l 2,352 2,400 £48
OSOEZHSAMLAY S 0t (=0l
NE-ETD AT 2,352,008 * 14 2,352 2,400 N
402 Q12H T2 0] & 28,000 30,000 A2,000
NRERETES 28,000 30,000 2,000
OFSUURAZNLAL (BHA S, 29) (2
ol &R ) AT 1,000,008 * 285 28,000 30,000 A2,000
EETPNE 47,000 50,000 3,000
301 LB A2 47,000 50,000 A3,000
IREERE 47,000 50,000 3,000
OVFFHIAI (BFEHBAH) (UL RY)
A 1,000,008 * 475 47,000 50,000 A3,000
R EY 33,276 33,360 N
A=!Y Al g 3,276 3,360 N
202 (4 Hl 3,276 3,360 A B84
01 =Lio1 bl 3,276 3,360 ~84
OFABAES NS S obl(ZULE)
AW 20,0008 * 201 x 7Y * 11,78 3,276 3,360 N
SAHE 3,538,383 10,453,595 3,084,788
| 500,000 0 500,000
= 548,000 500,000 48,000
2 12,490,383 9,953,595 2,536,788
SAHE 2 200,723 131,660 69,063
T S 200,723 131,660 69,063
201 Yot | 18,923 9,360 ~437
01 Ak 22l 18,923 19,360 ~437
Olger+sHl] 11,564 1,800 £236
OZANEYS NSTD2(2ULE)
AT 9,764,008 * 14 9,764 10,000 £236
Ooleg+g] 7,359 7,560 A201
OZANE L B/ HALL (LM ME
%) 2H 70,0002 * 991 + 11.683] 7,359 7,560 A201
203 Y= 9,500 0,000 A500
03 AHERYREAY| 9,500 10,000 A500
OSA L ZANE YLETH(ROULE)
AT 9,500,008 * 14 9,500 0,000 A500
207 & I 170,000 100,000 70,000
NIEEEET 170,000 100,000 70,000
OlE LAT2HE ME BIZEBY
50,000,0008 * 14! 50,000 0 50,000
OR22UNY(BENY)HY 2T 8Y
20,000,0008 * 14! 20,000 0 20,000
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X ZH -
L= B
el

SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
CAFEZH 585,000 600,000 A 15,000
CAZEEA 585,000 600,000 A 15,000
AEH L LY 285,000 300,000 A 15,000
01 Al&H| 285,000 300,000 A 15,000
ONES BHMSEZHUAYOIIME & F&AX
H(20aEZ) A 285,000,0008 * 14l 285,000 300,000 A 15,000
LA2ESE4 80,113 52,113 28,000
ATEFEAMNY 80,113 52,113 28,000
401 Al Y2 20| 80,113 52,113 28,000
01 Al&H| 80,113 52,113 28,000
OSR2XTP TAMNLAS 25T =HEHIAS
8,000,00084 * 14l 8,000 0 8,000
OSR2X 7 STAIMNEAY EX0HH
20,000,0008 * 14! 20,000 0 20,000
CAAECS2HAE MY 1,586,343 1,094, 140 492,203
dorsAY CAHECZIHA 669,750 440,900 228,850
401 Al 2 HIZ 20H| 669,750 440,900 228,850
01 Al&H| 668,000 440,000 228,000
O[AI&HI] 668,000 440,000 228,000
OEULTAHET2(AZ22-465 8 ) A 2 AH(
SO AR 23X 178,000,0008 = 14l 178,000 200,000 A 22,000
ORNECANHET2(AZ2-175 8 )IHA 2 AH(
H=R ) 2= 300,000,0008 * 1Al 300,000 200,000 100,000
092 TAHECZ(AZ3-1554 )IHA = AH(
HSX ) 50,000,0008 * 14! 50,000 0 50,000
OZQIIIHTE RAYR WA B A
100,000,0008 = 14l 100,000 0 100,000
03 Al& 2 H 1,750 900 850
OlAN& U] 1,750 900 850
ORNECAHE T2 (AZ2-175H)HEZ A
SUH (20 AE2) 850 900 A50
23X 100,000,0008 * 0.85%
O2UIGIIHTA AT HAZA 20
100,000,000& * 0.90% 900 0 900
ASSAA TAHZ2A 907,093 643,240 263,853
401 AlEHIZ 20 907,093 643,240 263,853
01 Al&H| 904,000 640,000 264,000
O[& A& AHHI] 139,000 40,000 99,000
OBYTAHEZR(ZE21-401,3-4025 & ) Y
HIAH(20AEZ) 38,000 40,000 A2,000
23X 38,000,000 * 14!
OZALU3XIOIIIE (AAIQHOIIHE ) AT 2
AMAEH A 21,000,000 * 14! 21,000 0 21,000
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X{ XH -
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D EAMAEE

S A3
S ADHE
ZOHE MY

SN HH - (EH) - HRAY - BES 0] &b 2 p/E-T HI RS2
OLTEANHEZ (212485 )& Al &
=EE] 80,000,000% * 14| 80,000 0 80,000
OlEX HeHl] 200,000 0 200,000
O AWK OIIIE (UAIQOITIE) HYE 2
X 04 bl 200,000,0008 * 14| 200,000 0 200,000
SINEEN 465,000 500,000 35,000
OMEBY TANHTR(L22-23084) W&
SACIST ) (2o aE2L)
2T 365,000,008 * 141 365,000 400,000 35,000
03 Al & = CH bl 3.093 3,240 A147
OlAZ=THHI] 3,003 3,240 A147
OHEBY TANHTR(L22-23084) W4
SAGISTR) (2o aE)
2 365,000,008 * 0.65% 2,373 2,520 A147
MRS EANEEZHE 9,500 10,000 A500
401 AIZHI L 2 THHI 9,500 10,000 A500
01 Al 9,500 10,000 A500
SINEEN 0 0 0
Ol& A HHI] 9,500 10,000 A500
OSd EANHEZ(L22-611S6)HEB A
(2oaE) 2 9,500,008 * 14 9,500 10,000 A500
SADIBAIE =5 1,002,019 497,850 594, 169
] 500,000 0 500,000
2 592,019 497,850 94, 169
SAANEEZ el 21,793 22,850 A1,057
201 YerE A 2,793 2,850 N
01 AR T2t 1,203 1,350 A7
olazl] 1,293 1,350 Ny
OZAHEEZHE HEF2l ST (2o
=) ZH 1,293,008 * 14 1,293 1,350 N
401 AIZHI L 2 THHI 19,000 20,000 ~1,000
01 Al 19,000 20,000 £1,000
OEANYE2NHE 28 - 58 - S)4++8(2
ol =) 2 19,000,0008 * 14 19,000 20,000 £1,000
SANEE RREe 267,500 250,000 17,500
401 NEHIL2THEI 267,500 250,000 17,500
01 Al 267,500 250,000 17,500
OlA&HI] 267,500 250,000 17,500
OADIX TeEM o AT B4 (2HAEZ)
2 10,000,0008 * 8.55kn 85,500 90,000 £4,500
OAJIX WS (EXAL JHI(204=
2) T 47,500,0008 « 14 47,500 50,000 £2,500
OLSEZ RMSI| L olE Fl(204=
2) 2 30,000,008 * 2.85kn 85,500 90,000 £4,500
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X{ XH -
S =

S ANt
S ADHE

SRl SADISAIE =5 (29l & 2)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
OZANNEEZ ocs S ZHOI(ZHMED
) 27 10,000,009 * 1.9km 19,000 20,000 A1,000
ONT SANUTZ 24 BHM
30,000,0008! * 14} 30,000 0 30,000
S ANAEES EHI 212,726 225,000 N12,274
401 N EHIL2THEI 212,726 225,000 ~12,274
01 Al&H| 212,726 225,000 A12,274
O[Al&Hl] 212,726 225,000 N12,274
OSAHHEE ANSINTHBAH(RU LY
) ZF 200,000,008 * 0.47kn 94,000 100,000 6,000
OYAESSD AUTHI BAH(ZOLE)
2 312,800% + 258m 80,726 85,000 N4,274
ONSBMNRA FUHE T8 DA(ZUME
) 27 38,000,0008 * 14 38,000 40,000 £2,000
RONBLY THAY 590,000 0 590,000
o] 500,000 0 500,000
2 90,000 0 90,000
401 N EHIL 2T 590,000 0 590,000
| 500,000 0 500,000
2 90,000 0 90,000
01 A&l 590,000 0 590,000
ORLOIIALN NBE 243
0,000,000% * 14! 90,000 0 90,000
OZ0IBYF £4& 500,000,008 * 141 500,000 0 500,000
| 500,000 0 500,000
EPIETESE 8,088,742 6,238,742 1,850,000
= 48,000 0 48,000
= 8,040,742 6,238,742 1,802,000
A2 TGN AL 48,000 0 48,000
= 48,000 0 48,000
401 A4l 2 = CH | 48,000 0 48,000
< 48,000 0 48,000
01 Al bl 48,000 0 48,000
OYAS A2 YH SHAR
18,000,008 * 14| 18,000 0 18,000
= 18,000 0 8,000
OSZO 7ot CEMUSHNZY IXIA
0,000,0008 * 141 30,000 0 30,000
= 30,000 0 30,000
FoIHHAY 5,658,272 3,698,272 1,960,000
401 Al 2 = CH | 5,658,272 3,698,272 1,960,000
01 A&l 5,649,000 3,689,000 1,960,000
O[AI&HI] 5,469,000 3,509,000 1,960,000
OYY HBE REY Fei¥el L I
=y 80,0008 * 250m 20,000 0 20,000




M S AN D
. T AONY
selr Ngolegtxd (Sl & &)

SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE
oY INSOtE et ZA
466,00020 * 42.918m 20,000 0 20,000
oYY HEWE HUELBA
400,0002 * 50m 20,000 0 20,000
oge sl o4 HH DA
120,000% * 150m 18,000 0 18,000
OYY WHOIS W42 FHl TA
10,0002 * 150m 15,000 0 15,000
OYY WIS oY OtAR M| BA
16,0008 * 1,500 24,000 0 24,000
oYY M2 BH Y HAZ I B
10,0002 * 350m 35,000 0 35,000
ogY Ttz WA Ful A
10,0002 * 200m 20,000 0 20,000
O4E SRENSID FHEXNHH
160,0008 * 312.5m 50,000 0 50,000
O4S HEOIS32 2T EXHYH
50,0008 * 400 60,000 0 60,000
O4S ¥SINISID EY Y FHIY 2
At 50,0008 * 600 30,000 0 30,000
O4S E0IS ST HTF TA
592,0002 * 135.135m 80,000 0 80,000
OET HTAMINL BH+2 FHl ZA
10,0002 * 250m 25,000 0 25,000
OCSZ WAHE MYZ ST BA
500,0002 * 20m 10,000 0 10,000
0T b2l L&1R S2TY BM
80,0008 * 250m 20,000 0 20,000
ONT 2~ 52T TA
80,0008 * 250m 20,000 0 20,000
023 OIS =AY VYR EF JA
80,0002 * 100m 8,000 0 8,000
023 NSOIS th+2 2 D8X &3 3
10,0002 * 200m 20,000 0 20,000
03 2-LNTZ DEX 2X 2A
4,000,0009! * 52 20,000 0 20,000
02T URENES SMs=MESHEY o
2 BA 30,0008 * 500 15,000 0 15,000
023 SUNIE RYLXZA
40,000,0008! = 14} 40,000 0 40,000
O4S 342 52 ETEIA
80,0008 + 187.5m 15,000 0 15,000
ON= Ol&2 HYZ TH BA
80,0008 + 187.5m 15,000 0 15,000
NS HSOIZ APES 2 W42 By 3
A 187,500% * 133.33nm 25,000 0 25,000
OAMS NESOES XNY2 TF A
80,0008 + 187.5m 15,000 0 15,000




M S AN D
. T AONY
selr Ngolegtxd (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz

04 RSH0IE oL OHAZIM LI ZM
1

6,000& = 2,500m 40,000 0 40,000
OANZ 2t=el == &4l A
100,000& * 150m 15,000 0 15,000
OANS &E0E MEES E &2 X BA
80,000& = 250m 20,000 0 20,000
OANS &0t =2 HH=SIH S A
100,000& * 200m 20,000 0 20,000
OANE BHeiits o2 JtEd Y X SAM
100,000& * 170m 17,000 0 17,000
OANZE s\l s2 Z& SA
80,000& = 312.5m 25,000 0 25,000
OAS 2t=cl 24X YT HEH ZA
200,000& * 50m 10,000 0 10,000
ox: S5d0ls stt= Zotd 385 S
40,000& = 500m 20,000 0 20,000
O&Z dElts &2 A =& SAM
100,000& * 300m 30,000 0 30,000
OZAM =02 AP A2 HE SA
0,000& = 250m 20,000 0 20,000
O=ZAN AMESEOIS 22 HE SA
400,000& * 50m 20,000 0 20,000
OKNZE A0S S2EEH M
100,000& * 150m 15,000 0 15,000
OKNE 2%l =22 2M
Z & 80,000& * 1,000m 80,000 50,000 30,000
ONME LsOtS dYZ2 SHEZF M
200,000& = 150m 30,000 0 30,000
Oshdt sl s2 Z& SA
100,000& * 200m 20,000 0 20,000
OsStat DHE OIS &2 &EZE S A
200,000& = 125m 25,000 0 25,000
Ostah DHEel AY2 SH5
20,000,000& = 14l 20,000 0 20,000
o0l Sl =2l SAt
100,000& * 200m 20,000 0 20,000
o0l dtel s2X Eti+=2 HHl 3AM
100,000& * 200m 20,000 0 20,000
OO0y 250t =2 EHl ZA
100,000& * 250m 25,000 0 25,000
O3 sshtsetz neg =%
100,000& * 100m 10,000 0 10,000
Ods SAOS OtAZ ZH S A
16,000& = 3,125m 50,000 0 50,000
O&s AALIXOIHLE B0l s0lAIE &
= 20,000,000& = 1004 20,000 0 20,000
O3S SU4AXIOIIE &0l s0lAE B
20,000,000& = 2004 40,000 0 40,000




SH AN
B AN
SISt KIS EY CER-ED
SA - () - NRANY - BES 0 &k 7= Hl &2
OCSid el Mgz B8 B
80,000& = 312.5m 25,000 25,000
O HES =X YR H&
23,000,000& * 14 23,000 23,000
02T PH(LEEH) VYR W42 T
100,000& * 150m 15,000 15,000
02T SHOIE OAE HMLI| DA
16,000& = 937.5m 15,000 15,000
02T UHOIS OAZ HM2I| DA
16,000& = 1,875m 30,000 30,000
02® MB2 ez BH ZA
100,000& * 150m 15,000 15,000
02 R0t EX 2 H42 FH SM
100,000& * 150m 15,000 15,000
OUS XUOIE OASE HMLI| DA
16,000& = 2,500m" 40,000 40,000
OMIS WSE0IS 01AR IMSI| TA
16,000& = 2,500m" 40,000 40,000
OUS FADS OAZ HM2I| DA
16,000& = 2,500m" 40,000 40,000
ONS EEH YsYe MY TF DA
80,000& = 187.5m 15,000 15,000
OSE ZROIS SBFH Fbl ZM
100,000& * 350m 35,000 35,000
OSE THE2 2 0IAR M| BM
16,000& = 1,875m 30,000 30,000
OSE S90S OAZE HM LI DA
16,000& = 1,875m 30,000 30,000
OFH 23S 52 T BA
80,000& = 500m 40,000 40,000
OZAH XLOE 92 OlA2 FMI| BA
16,000& = 1,562.5m 25,000 25,000
OzZAM XNL0tS Bi+=2 FHI
10,000,000& = 14l 10,000 10,000
OFH BUNE S2EF TA
80,000& = 250m 20,000 20,000
O=M Fa0lE oY HEH
10,000,000& = 14l 10,000 10,000
OBAH HOI0IE o2 OlAR HMSI| DA
16,000& = 1,562.5m 25,000 25,000
OstH SEOIS TYR 0122 IMLI| B
At 16,000& = 3,437.5m 55,000 55,000
00l DIEDIS 42 022 FMSI| DA
16,000& = 4,062.5m 65,000 65,000
00Ig BEOE 842 JSaY Hx DA
250,000& * 100m 25,000 25,000
OO0l BHECIDIS OtAZ IMNRI| SA
16,000& = 1,875m 30,000 30,000
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X ZH -
L= B

el

SN HH - (EH) - HRAY - BES 0l & p/E-T Hl DS 2
Ost¢t FS0tE &2 ZEHSA
25,000,000& * 14l 25,000 0 25,000
o0y aHENE drgd FEXNFLY
20,000,000& * 14l 20,000 0 20,000
09 =42 =2 8= A
250,000& = 160m 40,000 0 40,000
FUSEAMY 2,382,470 2,540,470 A 158,000
401 Al HIZ 201 I 2,302,470 2,510,470 A 208,000
01 A& HI 2,293,500 2,501,500 A 208,000
O[AI&Hl] 2,293,500 2,501,500 208,000
OdY del o2 F=HEH A 2E 0& 0 17,000 A 17,000
Oz N3l SR& =2 SH &€ XNEAM
MYZ SEE ZA 2F 0& 0 20,000 /20,000
OHdsE MEXT ==2&Hl SAt Z2E 03 0 20,000 220,000
Ofs HEXF sZEHl SAt 28 03 0 17,000 A 17,000
o83 HEXF s2FHl SA Z2E 0& 0 17,000 A 17,000
Oz EEXNF s2&Hl SA 28 03 0 16,000 A 16,000
OHs YMUXF =2 MZZI| SM
2 03 0 17,000 A 17,000
OHsS MEXIF =2 MZZI SM
32 03 0 17,000 A 17,000
OHsS HAEIXF =2 MZZI| SM
32 03 0 17,000 A 17,000
OdsS MSEXNF =2 MZZI SM
32 03 0 17,000 A 17,000
o83 Us=X+ s2 22| SAM
32E 03 0 17,000 A 17,000
oOds el Ot AZEH A Z2E 03 0 15,000 A 15,000
O3S &XEe Ot AZEHE A Z2E 0¥ 0 16,000 A 16,000
O &S it =2 &HHl SAt 2E 03 0 17,000 A 17,000
O&s szl == FHl A Z2E 0¥ 0 17,000 A 17,000
O&sS &Il theg &HHl SA 23 0& 0 20,000 A 20,000
O&s EYel == FHl A Z2E & 0 17,000 A 17,000
O&s ¢zl s2 XZZJ| A 2E 034 0 17,000 A 17,000
O&s M3el s XZZI| A 23 0& 0 17,000 A 17,000
Of= Ecl s 22| SAF EE 03 0 17,000 A 17,000
O3S YMXTF ==2FHl SAt 2E 0& 0 16,000 A 16,000
Oz s=X+ s=2&Hl SAt 2 0& 0 16,000 A 16,000
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